
Term

Term, der 
ausgeklam-
mert werden 
soll Ergebnisprodukt

3 x y+12 y+6 y z

y y (3 x+12+6 z )

3 3 (x y+4 y+2 y z )

4 x y+12 x+8 x z

x x (4 y+12+8 z )

4 4 (x y+3 x+4 x z )

12ab−6a bc+18abd

3a 3a (4b−2b c+6b d )

6b 6b (2a+a c+3a d )

8nm+12 k n−4 l n

2n 2 n (4m+6 k−2 l )

4 n 4n (2m+3 k−l )

12 t a b−36 t a+24a c t

3a 3a (4 t b−12 t+8c t )

4 t 4 t (3a b−9 t a+6 a c )

12 t b c−36d b t+24 t b

3 t 3 t (4b c−12d b+8b )

6b 6b (2 t c−6d t+3 t )

ab−ab c+abd

a a (b−b c+bd )

b b (a−a c+ad )

ab c+ab−abd

a a (b c+b−bd )

b b (a c+a−ad )
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Lösungen
https://www.henriks-mathewerkstatt.de/1454.Multiplikation_01.Ausklammern.Aufgaben.01.L.pdf
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